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2 eguivalent protons give one signal
(different from all other protons)

3 eguivalent protons give one signal ’/
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3 equivalent protons give one signal
(different from all other protons)
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— 4 — - relative ratio is 1:1
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o = shift in( Hz) / (spectrometer frequency in MHz
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Strength of |B,=1.41 B,=1.41
Field: Tesla Tesla
Operating 60 MHz 100 MHz
Frequency:

Shift From |162 Hz 270 Hz
TMS:

d value: 2.7 ppm 2.7 ppm
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These 2 protons are adjacent to a carbon with 3 hydrogens.
Therefore, the peak for these protons will be split into n+1,
or 3+1=4, peaks.
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Example 1: C,H,O,
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Example 2: C,,H,,
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' Example 3: C.:H,,Br
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